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Definition
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PRINCIPAL VALUES AND DOMAINS OF INVERSE CIRCULAR FUNCTIONS :

y=sec !x where x<-1 or x=1:0<y<m : }'i% and secy=x .
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NoteE THAT: (a) st quadrant 1s common to all the mverse functions .
(b) 3rd quadrant 1s not used in inverse functions .

(c) 4th quadrant 1s used in the CLOCKWISE DIRECTION 1.€. —’—; <y=0



PRINCIPAL VALUES
FUNCTIONS :

AND DOMAINS

OF INVERSE CIRCULAR

Function

S.No. Domain Range
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A y=sin7'x, - _,}r__‘? —
AT y=cos1x

(iii) y =tan 'x -

(iv) y =cot 1x

(v) . y=coseclx

(vi) y =sec ' X
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st quadrant 1s common to all the mverse functions .
3rd quadrant 1s not used in inverse functions .
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4th quadrant is used in the CLOCKWISE DIRECTION 1.e. —— <y <0
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Problems

Find the value of

;3 .
(a) sin [."‘.sr’n I ‘ (b) cos (2 tan™2) + sin (2 tan™ 3)
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Properties
P-T Ur<n sin'x)=x . -l<x<1

4 cos (cosIx)=x . —1<x<1

M) sinlGinx)=x . _Lex<l
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cin Problems

cos| cos  cos|i—J)+tan  tan has the value equal to -

(A) 1 " (C) cos % (D) O
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If x= sin_l(si and y = cos™ (cos
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